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L Instruction J

The candidate should indicate the correct Roll Number, Registration No., Course; Question Booklet Series,
Question Booklet SET on the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the
candidate will be solely responsible for it.

Each question has four alternative answers. The candidate has to darkeén only one circle/bubble on the Answer-
Sheet using black/blue ballpoint pen indicating the correct answer.as shown below. If more than one answer /
option is found darkened, then the question will be treated wrong and will not be evaluated.

Example:  Correct Method: O@ O O Wrong Method: & & ® @

Answer all the questions / 7950 T4 TEA WG / [ WEHPT SRAETEN 2x30 =60
Choose the correct option / Af3% Tw@afb o7+ 74 / W Ry BN

1. Which of the following is not a fundamental right as per the Indian constitution?

(A) Right to property (B) Right to equality
(C) Right to freedom (D) Right against exploitation
o MR g fFeg @i (s SeE w7 2
(A) F™ifex SfteR (B) G0 S
(C) F Bz SR (D) (e Reera wfzpig
AT Fe PrT ARG AT SR Hif1d SIRpR &g 2
(A) GFURier SRR (B) GEFICTT STRBR
(C) TaxT=IdTepT YT (D) U g SR
2. Tebhaga movement started in which year?
(A) 1845 (B) 1946 (C) 1997 (D) 1948
(TSN SCHIETH PO HCET B AR 9
(A) 1845 (B) 1946 (C) 1997 (D) 1948
ST =TT ¢R0 10T Y &7 —
(A) 1845 (B) 1946 (C) 1997 (D) 1948
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3. The preamble of Indian Constitution was adopted on —
(A) 26" January 1950  (B) 26" Nov, 1949 (C) 15" August 1947

RO FRRUR 2B IR S 2 9
(A) 26 (I TAA 1950 (B) 26 ST 1949 (C) 15 =95 1947

R S AUTeT IR Bfet e HYet Rt 2
(A) 26" SRt 1950 (B) 26 TR 1949 (C) 15" 3FTT 1947

4, The second five year plan was based on —

(A) Solow model (B) Domar model
(C) Robinson’s model (D) Mahalanobis model
i 2R Afwwam fofe e —
(A) GG ST (B) CCINIR 0ee
(C) AR e (D) SR AT
QAT YT TS & AT SrenRa R 2
(A) | At (B) SR Hise (C) o= Hfeat
5. The preamble of the Indian Constitution is taken from the Constitution of —
(A)USA ' (B) Canada (C) Australia
SIS R BT (7 (TR TR (T (S TAR —
(A) USA (B) I (C) wezfm
IR WIIETDT IR P ST FAGTATE forsTep 8 ?
(A)g 4.3 (B) @IS (C) sireeferar
6. When did liberalization start in India?
(A) 1991 (B) 1992 (C) 1993
TS AIGE SRS SRIAFIT 8 2 9
(A) 1991 (B) 1992 (C) 1993
TRIHT ISRIHRUT Dfect 3 Al 7
(A) 1991 (B) 1992 (C) 1993

7. Qutub Minar is located in — .
(A) Agra (B) Delhi (C) Bihar

Y TR R —

(A)=itait (B) Tt (C) ke
P HHR PEl HaRAT B ?

(A) AR (B) faeefr (C) e
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(D) 9 Dec, 1946
(D) 9 o9 1946

(D) 9% ==} 1946

(D) AETARISRT HSaT

(D) Ireland
(D) SAIETS

(D) TRIRATS

(D) 1998
(D) 1998

(D) 1998

(D) Punjab
(D) &R

(D) 99 g



FYUGP/B.A./VAC/2nd Sem./UINDVAC1202A/2024

8. Quit India movement started in —

(A) 1920 (B) 1930 (C) 1942
SIS QIO W W FrafRe —

(A) 1920 (B) 1930 (C) 1942
TR BIST AN HITT R —

(A) 1920 (B) 1930 (C) 1942

9. Which of the following is a tributary of the river Brahmaputra?

(A) Subansiri (B) Bhima (C) Chenab

fFrfReafm e @ gt S »

(A) TGS (B) o= (C) vt

DT HEY P SETYH TN FETID 1 &Y 2

(A) GFIRRY (B) o= (C) ¥
10. Natula pass is located in —

(A) West Bengal (B) Sikkim (C) Bihar

et Fifgor ke —

(A) *Fosm (B) ifw (C) Ra

T[T TSUTS Pa! IFARUT B ?

(A) i3 S7eT (B) R (C) foEr
11. The highest peak in the Eastern Ghats is —

(A) Anai mudi (B) Dodabeta (C) Ooty

*RIG “1Erex T 7 = —

(A) SRR (B) (RIS} (C) T

e ST F49=T Io RIER 8l—

(A) T (B) gt (C) &t
12. Which one of the following is the famous festival of Tamil Nadu?

(A) Pongal (B) Bihu (C) Onam

SIfNETAIGR e St Ao i ¢

(A) (BT (B) kg (C) &ar

T e P dAAerTTgaT IRIg od 8 2

(A) GiTer (B)dig (C) 3T
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(D) 1947
(D) 1947

(D) 1947

(D) Nubra
D)=

(D) gar

(D) Himachal Pradesh

(D) fRieat aipast

(D) f&smaer sreer

(D) Mahendragiri
(D) Sz

(D) Fersfist

(D) None of these
(D) P12 77

(D) 7T P 815
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13. Asper 2011 Census, which Indian state is the highest populous?

(A) West Bengal (B) Bihar (C) Rajasthan (D) Uttar Pradesh
205 ST GRoITAl ST, ST (FIF ey IS G ¢

(A) ~owet (B) = (C) e (D) Taq eltn!

¥ 20111 SFTUFT SFTIR FIHET qG! ST T TR A5 F+7 &7 2

(A) Uf3e et (B) fegR (C) ISTERIT (D) IR W=

14. Which one of the following is not a writ that the courts can issue under the right to Constitutional

remedies?
(A) Habeas Corpus (B) Mandamus
(C) Ceteris paribus (D) Quo Warranto
AR afoRaicr seer [ @i R Siwere siaria w1 90 7@ = 9
(A) T eopRFae (B) % wimietces @ifo S Siwieted Tpsa
(C) S Raw @& AFee (D) I8 STETH!
ST ST STYDIR AT STaTeITer A T+ e Re TFefent 76l ool 8IgHT 2
(A) §et yeafteor (B) TRHTCST
(C) A e (D) SRR ot
15. The oldest Veda is —
(A) Sam Veda (B) Rig Veda (C)Yajur Veda (D) Atharva Veda
libiToN @7 % —
(A) AW (B) 43C% (C) TgEn (D) SREE®
R R 9 8T —
(A) 9 a5 (B) S (C) TR (D) 3rerdag
16. The first elected president of the Constituent Assembly in 1946 was —
(A) Jawaharlal Nehru (B) Dr. Rajendra Prasad
(C) Abul Kalam Azad (D) Vallabbhai Patel
1946 AT TR FeE 2Ly e werifs frem —
(A) G e2FEe (s (B) ©. qitem &Hw »
(C) OIRE TN S (D) IFeSIB AT
99,1946 AT G afec Faffid sresr a1 g 2
(A) TTaTERelTeT 78 (B) o I TS
(C) 31T BT JANTS (D) geeT T3 ycel
17. Battle of Plassey fought in which year?
(A) 1657 (B) 1757 (C) 1857 (D) 1957
eI o T AT AR 9
(A) 1657 (B) 1757 (C) 1857 (D) 1957
P Tt WRATeDT g 0@y fORTY 2
(A) 1657 (B) 1757 (C) 1857 (D) 1957
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18. The Kullu valley is located in —

(A) Uttarakhand (B) Himachal Pradesh ~ (C) Punjab (D) Assam

5] Boferel SRR —

(A) Teare (B) feivet gt (C) A& (D) S

o] HTCT HEl SFARRYT & 2

(A) STRTEUS (B) fedmaer uger (C) 9519 (D) 3/ H
19. RBI was nationalised in which year?

(A) 1947 (B) 1935 (C) 1949 (D) 1950

RS qiw F© AN TSP T 9

(A) 1947 (B) 1935 (C) 1949 (D) 1950

RBI G AT TSR TP RN 2

(A) 1947 (B) 1935 (C) 1949 (D) 1950
20. Who was the leader of Indian National Army?

(A) Mahatma Gandhi (B) Subhas Chandra Bose

(C) Bal Gangadhar Tilak (D) Indira Gandhi

@ e f&w e (ot fzrer ¢ '

(A) T SR (B) Joiva

(C) AT aiyg fooi (D) 2 ot

STSITE fore DioTept =1aT g 2

(A) FETHT et (B) GHIY T a0

(C) 91eT TR fireras (D) sf~e=y el
21. Who is known as father of Indian National Congress —

(A) W. C. Banerjee (B) S. N..Banerjee (C) M. K. Gandhi (D) A. O. Hume

CIAOR TSI FACH o 90a, “ifioe —

(A) Sormivm G (B)y @, @, & (C) @, 3. (D) €. 8, fTw

TR ASERT BRI Siefep Y FRrg 2

(A) Seeg, 3T, aoit (B) T4 . §aif (C) W & el (D) T. 3. g
22. Fullform of GDP is —

(A) Gross Domestic Product (B) General Domestic Product

(€) Gross Development Product (D) Great Development Producer

GDP-€7 5 77 27 —

(A) Gross Domestic Product (B) General Domestic Product

(C) Gross Development Product (D) Great Development Producer

GDP & 4T AT 8T —

(A) Gross Domestic Product (B) General Domestic Product

(C) Gross Development Product (D) Great Development Producer
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23¢

24.

25.

26.

27.

Which body replaced the Planning Commission in 2015?

(A) NITI Ayog (B) NABARD (C) SEBI
f0oa 1Al st SR TR =7 2015 i 9

(A) NITI Ayog (B) NABARD (C) SEBI

9 2015 HT AISHT STIRTEATS 1 el Sfereeas i 2

(A) e amarr (B) NABARD (C) SEBI

First five year plan in India was for the period —

(A) 1947-1952 (B) 1951-1956 (C) 1955-1960
SRS 2 eI SfFTHEIg TEre w1 —

(A) 1947-1952 (B) 1951-1956 (C) 1955-1960
T YT JISTTehT HI-areT P frT 2

(A) 1947-1952 (B) 1951-1956 (C) 1955-1960

How many Tirthankars were there in Ancient India?

(A) 16 (B) 22 (C) 23
2N SRTS IS FIEw SdE R

(A) 16 (B) 22 (C) 23
AT ARG frefgenRene! Gt dhelt orT 2

(A) 16 (B) 22 (C) 23

Total no. of Purans is —

A) 11 B) 18 (C) 43
(G 2N FRAT —

(A) 11 (B) 18 (C) 43
RIUTERT et AT & —

(A) 11 (B) 18 (C) 43

Who is considered as the founder of Buddhism?

(A) Mahavira (B) Ashoka (C) Gautam Buddha
(T T eRSS & ReeT 9

(A) R (B) ST (C) ¢Trew 35

g DT TS HIATS HIS 2

(A)FEER (B) a12M® (ORIEKr
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(D) None of these
(D) @62 7

(D) AT T+ Bl

(D) 1959-1964
(D) 19591964

(D) 1959-1964

(D) 24
(D) 24

(D) 24

(D) 10
(D) 10

(D) 10

(D) Guru Nanak
(D) @< qive

(D) o e

Ll N
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28. India’s political system is —

(A) Democratic (B) Dictatorial (C) Military

OO ACATOP I —

(A) TrifET (B) IATTCH (C) e

ARTTPT ATy eI & —

(A) B ) EICRIPETIE] (C) &7 I
29. Green revolution is associated with the production of —

(A) Fish (B) Cereal crops (C) Forest

& 27 e @ Teotmn w7 wids o

(A) TR (B) wi=t *i (C) Ivef

BRAT 1T b STUTEHIT T If~ed B 2

(A) FTBT (B) 310! HeT ©C)s

30. Majuli is a riverine island located in the river?

(A) Ganga (B) Brahmaputra (C) Yamuna
e (I TR7 wwsfe Rt 9

(A) = (B) g™ @ (C) T
P e ST AT 2Tg AR © 2

(A) T (B) sI&gT (C) T

X
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(D) None of these
(D) P 77

(D) A1y fegept ot &

(D) All of these
(D) R

(D) ATRepr T3 &

(D) Narmada
(D) i

(D) 7T



